Potencias de 10 (G)

6.5389 + 1000

1.9247 + 1000

5.678 +1000

1.4562 + 1000

8.614 1000

6.8895 = 1000

4.8858 = 1000

1.8253 = 1000

3.881 -+ 1000

3.0116 = 1000

Calcule los siguientes cocientes.

7.8769 = 1000

3.3064 + 1000

9.5796 = 1000

8.8196 = 1000

6.7278 = 1000

6.1171 = 1000

2.5044 + 1000

9.6178 = 1000

1.2353 1000

6.2346 = 1000
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Potencias de 10 (G) Respuestas

6.5389 = 1000
0.0065389
1.9247 = 1000
0.0019247
5.678 + 1000
0.005678
1.4562 = 1000
0.0014562
8.614 1000
0.008614
6.8895 <1000
0.0068895
4.8858 = 1000
0.0048858
1.8253 = 1000
0.0018253
3.881 <1000
0.003881
3.0116 = 1000
0.0030116

Calcule los siguientes cocientes.

7.8769 = 1000
0.0078769
3.3064 + 1000
0.0033064
9.5796 - 1000
0.0095796
8.8196 = 1000
0.0088196
6.7278 = 1000
0.0067278
6.1171 = 1000
0.0061171
2.5044 + 1000
0.0025044
9.6178 <1000
0.0096178
1.2353 1000
0.0012353
6.2346 = 1000
0.0062346
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